1.

@ x5yP @ x5y @ x4y ® x3yt

@ x4y6



@ 415
@ 416

@ 41

G 420

D 412



o Eo1d A& ko=t



4. 16 =a ¥ 1, 64° & a & °]85tq e ofzt

>R
=%



5. O3 F (ab?)? + (-2b)? & HIE2A| A4S A2 St

274-2 272
A (ab?)? + (=2b)? = a®b* + 4b? = a Z = a4b
© (ab®)? + (-2b)* = ab* x —abtx = ab®
(—2b)? a2 4
© (ab?)? = (-2b)? = a’b* + (-2b?) = —2ab*"? = —2a°b?
1 a?
@ (ab?)? + (-2b)? = a®b* x pTeiaiyie)

s
=¥



6.  184°h® + 3a%bh x 2b & 7HH5] 5HA?

@D 3ab @ 6ab? B 12ab? @ 3ab’ B 12ab3



7.  (5x—2y)(-3y)E ts| ofH?

D -15xy — 6y? @ -15xy - 5y? @ —15xy + 6y?

@ 15xy + 5y2 ® 15xy + 6y?



o|J
ey
)
™
IS

ol
RS

—_—

el

—

o)

I
No

—

Lo
il

ol

L=x+2>-1

=

-2x<-x-3
—x—-2>2

L.

2. x-4<-5

]:-

g 2x-1>x-3

@ 1, ® 1, = @ v, © ® L, =

O 1, Lv



e AAREA Z 7 ox -5 < x+ 39 &2 AL9

® 2x-3<5x+6 @ 2(3x-4) <40
® —2x-1<-5x+8 @ 1-x<2x+7

B 9—x<2x+3



10. dARSA 2(x+1)+1<13-x 5 UFA7| = AASE BE

ofzt,






3

4 b
12. (i> :;‘Tﬁ%l a+b o) ZHe Tatlat

yd

SER
-



13, b Aol 9L a8, CF
(—2x2y) x(xy) = AxBy

Be:a=
YENE
Be:c=

47 7



14. b5 H7] &2 A 25 A A2

@ 2a% x 5a® = 104°

© (2x%)% =65

3

® xxx°+x0= (})
x

@ X+x¥+x=0

@ (—2xy)* +4x%y = 4x?y?

DAHO OO0 ®0a0a6 oo 66 0



® b

a

D1



16. the Fol4 AxR5A0] obd He?

D 2x+1>10 @ x<3x-4
®3-x>2-x @ 2% -2 < x

B x2-2<x2-x—4



b2 oW AHEAS B 1 3

223 glo] Lepdl Zolc}, 1 542

A7} 2
1

D 2x+6>2 @ -3+x<2 @§x>3

@ —92x> —4 B —4x+1>9



2(2-x)+03>-07& WSz x o & T M2



f7F A=

ke

caea X 5 9x+3a>3x—49

2

o] g Fsfolel.



20. A5H A A ol 30 Hok e o, Al A T 7 2 A

AN
=7

@D 9 ® 10 3 11 @ 12 B 13



1AlA (

a2+ )

21.



22,

(3x9) = 81x** A W, a + b ©] F-2?

@D 6 @ 7 3 8



23. 25x57x7 o] nAe o AALd uf, n 2] ZH2?

D 5 ® 7 B 8 @ 10 B 12



24. BS5X 5x+a <79 7t 2 2 ),
a9 3 Fotoiet,

e
=




25.



